SAe@.,L#?)SFI()w of Incompressible Fluids

/- Two horizontal circular discs 30cm diameters each are lem apart.
Water cnlers at the cenler of one disc & {lows outwards discharging
into atmosphere at the outer diameter with a velocity of 20cm/scc.
Calculate the pressure head between the (wo discs at a radius Scm,
(Assume ideal {low) (h=-1.63 cm walter)

2= The diameter of a pipe changes from 20cm at a section 5m above
datum, to Sem at a section 3m above datum. The pressure of waler

first section is 5 bar. If the velocity of flow at the first section is 11‘1/5 lowe
determine the pressure at the second section, aSsumsn&(x 1dea (} oud-
{P=39bar)
- Calculate the discharge in litsec. through the pipe line show below.
f y 1" Pigome&r tude
3},(@ . ..
J , v - . Atmosphere.
w: 1Stm, diam. : 75 Cm. dliam.
R

Also draw the T 1L & H.G., considering ideal [Tow.
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